
St. Mary's School, Dwarka 
Practice Worksheet 

Class: III 
Subject: Mathematics  

Topic: Ch-8, Length 
            Ch-9, Weight 
Name: _______________ Sec: ______ Date: _________ Roll No: ____ 

1. Choose the correct options. 
a) To convert centimetres into millimetres, we multiply the centimetre value by _____. 
i) 20                               ii) 30                               iii) 10                         iv) 40  
b) 108 cm is __________ than 1 m 8 cm. 
i) longer                         ii) equal to                     iii) shorter than          iv) indeterminate 
c) To convert grams into kilograms, we _______ the number of grams by 1000. 
i) subtraction                 ii) additional                  iii) multiply                iv) divide  
d) 5000 m = _________ km 
i) 5                                ii) 500                             iii) 50                         iv) 5000  
e) 7000 g = _____ kg 
i) 750                             ii) 700                            iii) 7                          iv) 70  
2. Arrange the lengths in order. Begin with the shortest. 
    6 m 80 cm,       675 cm,       5 m 60 cm,       650 cm  
    __________________________________________________________________ 
3. Arrange the weights in order. Begin with the heaviest. 
    3 kg 90 gm,      3050 g,     3150 g,     3 kg  500 g 
    __________________________________________________________________ 
4. Covert the following. 
a) 3 km 160 m = _________ m               d) 1070 g = ____ kg ____ g 

b) 234 cm = ____ m _____ cm                e) 8 kg 9 g = ________ g 

c) 6 cm 5 mm = ________ mm                f) 87 mm = _____ cm ______  mm 

5. Solve the following.  
a) 3 kg 650 g + 3 kg 600 g 
     
 

 

b) 20 cm 3 mm – 8 cm 2 mm 

 

 

3 kg 650 g                                     _________                     ___________                

20 cm 3 mm                          __________                       ____________ 

 

 

 

 

 



c) 6 km 900 m – 2 km 600 m 

        

 

   6. Ankita used 2 m 70 cm of pink thread and 8 m 38 cm of blue thread to make a  

      friendship band. Find the total length of the thread she used to make the band. 

                      

                      

 

 

7. The total weight of Rahul and Raj is 84 kg 144 g. If Rahul weighs 51 kg 622 g  

    then find the weight of Raj. 

 

 

 

 

 

8. Rita had a 30 m long wire. She gave 14 m 63 cm of wire to Rohit and 11 m 45 cm 

     to Ankit. Find the length of wire left with her in cm. 

i)        

 

                       

 

ii)                                     

 

 

                                       

6 km 900 m                          __________                       __________ 

 

 

 

 

 

 

 


